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NERLRES 5,000,000 » 14! 5,000
—dJE=2 &I 2= 12,000,000& x12& 144,000
—HEE2 Mot 23 350,000& »12& 4,200
—HIE2 AL EY BEES
500,000& x13] 500
—HJE2 AT EY 50,000& x 13l 50
Ozl 70,587
—#FES HYIA
(850 *200m" *3CH 902 ) *30% 41,310
—#FES WYIIA
(600 *200m" *3CH 902 ) *30% 29,160
—HI&EEI ASH(BR
1,164 3 x25L 43| »1TH 117
401 Al& I 28I 50,000 20,000 30,000
01 A& HI 50,000 20,000 30,000
OHFTEI2 FAM A2l & SHFHH S(3M
E, A 10,858m) 50,000,000& =14l 50,000
oee ¥ %X 22 240,531 358,878 A 118,347
201 £B-2dH| 37,971 39,652 A 1,681
01 At 22/l 5,204 6,004 A 800
Odstes AR AIEZ(LES 163081 K1)
3,000,000 =14 3,000
OdstEZAZHE EZH=EE 7
1,950 6001 = 12& 1,404
ONSITZA0IE BAHOUE & 840 MR
Xl 50,0003 x4 & »44 & 800
02 3323l 32,767 33,648 A 881
O3 & HA 20,067
—MEERY MR (HWLELR2 S)
900,000& »12& 10,800
—MEEZE 2EQ3(MHAR £)
450,000 x12& 5,400
—&EE FH U2 E NSHOHALE QY
AEZ 150,810& * 122 1,810
MBS ERRIADA AYOIEBE (Y Aa
=3 600,000 »23| 1,200
— S 2ACMEL SFHEER
856,510& x 13| 857
OA&ZH ®Xdl 10,900
—S¥E N&/EZ L otFYI| S uA
90, 000& x50 *20% 900




2N
X ZH -
L= B

el

SAI2 3 2t
2T A H

ATH JPAL BE

SA BB (3H) - NRAY - B ﬁlgﬁ HRE2
—dECze 520 A (HaBnd, =
& 2K, 30422, JE ZRANE S)
5,000,000 23| 10,000
OFA4E 238 =& & MIR2
150,000& x12& 1,800
202 044 800 1,200 A 400
01 2L Y| 800 1,200 A 400
OustE 242 =7 20ty
100,000& *2H x4 3| 800
206 M = dl 1,760 4,485 N2,725
01 X2 bl 1,760 4,485 AN2,725
OSWUA 242 Hary
22,0002 4004 x23| 1,760
401 AlEHIZL 2 0HY| 200,000 200,000 0
01 Al& H| 200,000 200,000 0
S A2 AL (HAAEEX, 88
F2EA ) 100,000,000 =14l 100,000
OMSIE 3042 U =5 YL A
2l AF 100,000,000 = 14! 100,000
(IS HABHEA 2 TS24 200,000 100,000 100,000
401 AlEHIZL 2 0HY| 200,000 100,000 100,000
01 Al&H| 200,000 100,000 100,000
OUESsS Aot =X 2/ T 2IHEZ2AH
200,000,000 « 1Al 200,000
MEZXSES D FEH 2L 200,000 200,000 0
401 AlEHIZL 2 0HY| 200,000 200,000 0
01 Al&H| 200,000 200,000 0
OMExESH FH T2IHE A
200,000,000 * 1Al 200,000
AFIIAYC =8 S22 100,000 100,000 0
401 Al HI L 2 0HHI 100,000 100,000 0
01 Al&H| 100,000 100,000 0
OMEII Y 222X XEZ2AL
100,000, 000& x 14! 100,000
HESHAAHI (T A2 83,152 85,110 A 1,958
=&t 83,152 85,110 A 1,958
JI2AH (S AI23HHD) 83,152 85,110 A 1,958
201 et d| 43,192 41,070 2,122
01 AP 22| d| 38,404 38,404 0
OJIS2ANRES 3| 100,000& 17X 1,700
O=AID| Uiz & EYRY (UL}, EH)
500,000& x1CH*x12& 6,000




EX: T AIS3H
Mz HMSAHH (ZAS M)
& 123l (chel & 9l)
SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
OSAIEX #¢ 23,000& *20Ef A x 128 5,520
OEAMI gX2(2d & =a83322)
500,000& *1CH x4 3] 2,000
OZ2H |AAR(EUTY S)
237,000& *3CH x4 3] 2,844
OAIR4 20o1FH 89+25 160,000&*12& 1,920
OJI2 3485H| 150,000& = 12& 1,800
od.2 dxJ| dxz 25,000& x12& 300
O=3&H| 8,000 x17H*x10L x12& 16,320
02 33294l 4,788 2,666 2,122
O332=2 % HAl 4,788
—RER2 4,164
2B H 400 #5003 x12& 2,400
sSoleH 2,100& x503| x12& 1,260
S)SHEESE 2,100& *x203| x12& 504
— QY ol82 30,000& x12& 360
—Sdes o2z 22,000 x12& 264
202 04| 36,720 40,800 A 4,080
01 2LHOHI 36,720 40,800 A4,080
OZANSSML 23 R2FE Z2LHAH Y|
20,000 * 17 x103| x12& *90% 36,720
203 R =&Y| 3,240 3,240 0
04 ENSIHRF=XY| 3,240 3,240 0
O T Al 23HM It 300,000& *12& *90% 3,240




